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Plot Sensor and FgRec Data

dFVvi
dFVo

——
+

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—o— DUC

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—&— FRV

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—@— FRC

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

278 -
276
274 -
272 -
270 -
268 -

179
178 -
177 4
176
175
174
173

0. 6456
0. 6454
0. 6452
0. 6450
0. 6448
0. 6446

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

40

1400

1200

1000

800

600

400

200

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
| N HwAvAwnUA ﬁ\VH\ — ]
. N
vv TRV Ataet ek S
RN
l WW\’V\V\A -
| i M
I — AN
| /I. /\/ N
VA Na L ALY
l LYV ALY i
\ v ;
| \U/ \ i/\v/\v/\/\p _
N i P T
RN |
Y s
B IWANYIAN = =
YN A
M AVAY:A N
‘&.VAV \ ' \I_V i -
A i A
/ E \_\-\ — LAl ]
s \
A R
7 |
\ E "\ ‘ [\ optEtRate
AN VRN L VAN WMy
LR VN !
IRl H\ A

25

50

100

125

150

175



250

200

150

100

50

Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN', ’slISetVI']]

.l“ll

% 7678 504 D
S > ol

ﬁAVA\M

1
I
\ / : setVI_ETcl
: setVI| _fgRec |
x 1 setVI_VN
: sISetVI
1 | |
20 30 40 50 60 70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

']

is missing

—@&— PHO

20

30

40

50

60




Trend plot forP3-2_0
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235 - 33.6 -
31.5 + 23.0 - 33. 4
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38.0 - 38.5
’ —0— ME —o— M_E 38.01 —@— ME —o— ME
38.0 A
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m=470, FV0=0 m=510, FV0=0 m=573, FV0=0
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- ME - MNE - ME
235 36.0 -
: 33.50
i 35.5 -
33.0 33. 25 4
i 35.0 -
32.5 33. 00 4
i 34.5 -
32.0 32.75 4
31.5 - 39, 50 - 34.0 -
T T T T T T T T T T T T T T
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m=455, FV0=0 m=500, FV0=0 m=560, FV0=0

33.0 - —&— ME —&— ME 371 —e— M_E
32.5 A 32.5 36 -
32.0 A
32.0 35 1
31.5 A
34 4
31.0 A 31.5 -
T T T 30. 5 - T T T T T T T T T
600 800 1000 455 460 465 500 505 510 560 565 570
m=605,m FV0=0 m=645,m FV0=0 m=685,m FV0=0 m=720,m FV0=0
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